9 FR26FEEREEARRTI()ICEY SR
(DBBAEEIETEH 1 ERBHEDEICRIS

ERERER) REEICH T HEIA (%)
wdte | s | mmomsy | RES e
FEHREE R H
(H)

= 4 ™ # 10 510,000 50 50
E R W L) 9 510,000 47 55
72 = W L) 8 510,000 42 51
mE W L) 9 510,000 42 56
T & L5 8 510,000 44 54
7N ] L5 9 510,000 51 63
| E W L) 8 510,000 41 51
TEF KT L) 8 510,000 47 52
B+ i) 8 510,000 43 50
F mom & 8 510,000 45 54
F E W L) 9 510,000 42 54
R O¥F H L) 10 510,000 44 49
= 3 F H L) 8 510,000 42 51
H % & 8 510,000 46 56
Z B & 8 510,000 45 55
i o # & 10 510,000 37 47
B B # L) 8 510,000 43 52
= B M L) 8 510,000 50 57
A 4 H i) 5 510,000 44 53
X 2 m i) 6 510,000 39 48
T & H i) 7 510,000 39 48
X oo# L) 4 510,000 55 66
(AN O N 1| L) 8 510,000 43 50
= i NIl BT L) 8 510,000 43 52
h + {£ BT i) 9 510,000 54 62
& Nl HT i) 8 510,000 40 50
#Mo& Hr i 8 510,000 41 51
B R H i 10 510,000 42 52
A & # i) 12 510,000 44 53
b= ) i) 9 510,000 55 63
7+ HT i) 8 510,000 54 54
X A H i) 8 510,000 47 53
= R # i) 8 510,000 39 51
£ 8 m & 8 510,000 39 47
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REEHR) BEEITHT HEIE (%)

B =

v = @ g | BED | 9% Bl | T
wEs | wEE | . AT
wa | ks | 7 | | @™ @ ™ @
30 20 50 9.42 0| 24,000 26,400 13,200 19800 |& %01 ™
25 19 44 9.20 4218 | 21,300 | 26,800 13400 | 20100|E F ™
30 19 49 7.20 3500 | 25000 | 27,000 13500 [ 20250 |&Z = ™
28 16 44 7.80 2800 | 25000 | 27,000 13500 20250|@m B W
28 18 46 7.57 30.28 | 19,000 22,600 11,300 16950 |£ & T
23 15 38 6.80 3000 | 19,000 | 23,000 11,500 17250 |7E & T
31 18 49 8.00 3300 | 22,000 | 23,000 11,500 17250 |78 £ ™
29 19 48 7.30 25.00 | 22,000 25,000 12,500 18,750 | L&A KT
34 16 50 7.50 23.00 | 22,000 17,000 8500 | 12750 |m 55 + ™
31 15 46 7.80 3000 | 23,600 | 20500 10,250 15375 |&F @M@ ™
32 14 46 6.30 3400 | 21,000 15,000 7500 | 11250|F %= T
31 20 51 6.00 3500 | 15,000 16,000 8,000 [ 12,000 | ¥ HI
30 19 49 6.00 3800 | 16,500 18,000 9,000 [ 13500 |Z&= % #| HT
30 14 44 6.00 29.00 | 21,000 17,000 8500 | 12,750 |H % HT
27 18 45 6.80 4400 | 18,000 | 21,000 10,500 15750 &% HE M
32 21 53 7.00 2800 | 18500 | 21,000 10,500 15,750 |4t )il #t
28 20 48 6.20 4500 | 23,000 | 26,000 13,000 19500 | B& #t
28 15 43 6.50 2800 | 20,000 | 21,500 10,750 16,125 |= 7 #t
33 14 47 6.00 3500 | 19,000 13,000 6,500 9,750 |[& L HT
36 16 52 5.90 36.00 | 16,000 10,000 5,000 7500 | K 2 @
36 16 52 6.00 33.00 | 21,000 15,000 7500 | 11,250 |+ {& HT
20 14 34 7.70 4920 | 16,500 17,900 8950 | 13425|K JII #f
34 16 50 7.00 21.00 | 22,500 17,000 8500 [ 12,750 |{Lv @ HT
27 21 48 5.80 4000 | 12,000 15,000 7,500 | 11,250 |{= i JII HT
23 15 38 6.70 2500 | 18,000 | 21,000 10,500 15,750 |dh L £ HT
32 18 50 6.20 4400 | 17,100 | 23,100 11,550 17,325 & )il HT
31 18 49 4.30 3000 | 15,000 15,000 7500 | 11,250 |#% %0 T
24 24 48 5.90 26.00 | 12,500 19,700 9850 | 1477545 & HT
33 14 47 6.95 29.00 | 21,000 14,400 7200 10800|B = #t
22 15 37 7.80 2000 | 19,000 | 22,000 11,000 16,500 ;£ EF HT
27 19 46 7.10 0| 12500 15,800 7900 [ 11,850 |/ 5 -+ HT
28 19 47 7.00 28.00 | 16,000 18,800 9,400 | 14100|K A Hr
27 22 49 415 23.50 9,000 12,000 6,000 9000 |= & #F
33 20 53 6.50 2600 | 19,800 | 21,000 10,500 15,750 |2 & Hr
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(WERREGEFCETLHA 0O RUASHAXESFRBER HICRID

SEFGRER) REEITH T HEIE (%)
wdae | BeEs | mmomsy [T REE mo R @
FigEliigE | BERIKRE
(M)
= M T # 10 160,000 50 0 50
E R W L) 9 160,000 29 9 38
72 = W L5 8 160,000 50 10 60
mE W L5 9 160,000 47 17 64
T & ™ L5 8 160,000 43 10 53
7N ] L5 9 160,000 57 13 70
| E W L) 8 160,000 44 10 54
TEF KT L) 8 160,000 50 7 57
B+ & 8 160,000 43 7 50
F mom & 8 160,000 44 8 52
F E W L) 9 160,000 45 7 52
R O¥F H L) 10 160,000 M 7 48
= 3 F H L) 8 160,000 42 9 51
H % & 8 160,000 50 6 56
Z B & 8 160,000 52 8 60
i o # & 10 160,000 34 10 44
B B # L) 8 160,000 37 7 44
= B M L) 8 160,000 53 8 61
A 4 H i) 5 160,000 43 9 52
X 2 m i) 6 160,000 M 8 49
T & H i) 7 140,000 M 9 50
X oo# L) 4 160,000 54 11 65
(AN O N 1| L) 8 140,000 42 9 51
= i NIl BT L) 8 160,000 45 11 56
h + {£ BT i) 9 160,000 54 9 63
& i) 8 160,000 40 10 50
#Mo& Hr i 8 160,000 42 9 51
B R H i 10 160,000 37 14 51
A & # i) 12 160,000 42 11 53
b= ) i) 9 160,000 60 4 64
7+ HT i) 8 160,000 56 0 56
X R W i) 8 160,000 42 5 47
= R # i) 8 160,000 39 12 51
£ 8 m & 8 160,000 40 9 49
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SRR REEICX T BEE (%) mo) FE
v = @ g | BED | 9% Bl T %
wER | FER | . wAiiT |t | TEAR
wa | ks | 7 | | @™ @ ™ @
30 20 50 2.96 0 7,200 8,160 4,080 6,120 |= %1
42 20 62 1.10 9.82 6,700 5,200 2,600 3900 | F T
26 14 40 2.30 10.00 5,800 5,600 2,800 4200 |[& = T
25 1 36 2.20 9.50 6,000 5,000 2,500 3750 |m E T
28 19 47 2.43 9.72 6,000 7,400 3,700 5550 |£ & T
19 1 30 3.20 13.00 6,000 7,000 3,500 5250 |2E W T
30 16 46 2.30 9.00 6,000 5,500 2,750 4125 |78 £
29 14 43|  250| 1000| 7000 6000 3000 4500 [£HEAK
34 16 50 2.35 7.00 6,700 5,000 2,500 3,750 |5+
29 19 48 2.20 7.50 6,400 7,500 3,750 5625 |& @ ™
30 18 48 2.00 6.00 6,000 6,000 3,000 4500 |& %
30 22 52 2.00 15.00 5,000 6,000 3,000 4,500 | ¥ HT
30 19 49 2.00 12.00 5,500 6,000 3,000 4,500 | & 3 FI BT
28 16 44 2.00 6.00 6,000 6,000 3,000 4,500 |H £ HT
21 19 40 2.20 10.00 4,000 6,000 3,000 4500 |[& H HT
35 21 56 2.20 10.00 7,000 7,000 3,500 5250 |4t JIl #F
32 24 56 1.20 8.00 6,000 7,000 3,500 5250 | % #t
26 13 39 2.60 12.00 7,000 7,000 3,500 5250 | 7 #t
32 16 48 2.50 15.00 8,000 6,000 3,000 4,500 |A L HT
35 16 51 3.00 17.30 7,600 4,800 2,400 3,600 | X £ HT
36 15 51 2.00 10.30 6,800 4,600 2,300 3,450 | {& HT
21 14 35 0.90 5.80 2,000 2,100 1,050 1,575 | K Il #
32 17 49 2.30 8.50 7,000 6,000 3,000 4,500 |Ly o> HT
30 14 44 1.80 15.00 4,000 3,000 1,500 2,250 |{= 3% )1 BT
27 10 37 2.50 10.00 7,500 5,000 2,500 3,750 | L {Z BT
32 18 50 1.50 11.00 1,500 1,500 750 1,125 [4& JIl HT
32 17 49 2.50 13.00 7,500 7,000 3,500 5250 |#% %0 HT
25 24 49 1.90 14.20 4,900 6,900 3,450 5175 |45 /R HT
32 15 47 2.00 11.00 6,300 4,800 2,400 3600 |8 & #t
21 15 36 3.50 4.00 7,000 9,000 4,500 6,750 |iE B HT
26 18 44 3.30 0 5,000 6,300 3,150 4,725 | 75 + BT
32 21 53 3.00 12.00 8,000 9,200 4,600 6,900 | X A HT
27 22 49 2.75 15.50 6,000 8,000 4,000 6,000 |= R #F
32 19 51 2.60 11.00 7,300 7,600 3,800 5700 | & HT
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(MBRBAEFICETLHE  /\ NERTSEREDEICRLD

SEFGRER) REEITH T HEIE (%)
wdae | BeEs | mmomsy [T REE e 8
FigEliigE | BERIKRE H
(M)

= M T # 10 140,000 50 0 50
E R W L) 9 140,000 46 5 51
72 = W L) 8 140,000 52 5 57
mE W L5 9 140,000 42 1 53
T & ™ L) 8 140,000 4 9 50
7N ] L) 9 140,000 54 8 62
| E W L) 8 140,000 43 7 50
TEF KT L) 8 140,000 56 3 59
B+ & 8 140,000 42 7 49
F mom & 8 140,000 42 7 49
F E W L) 9 140,000 44 6 50
R O¥F H L) 10 140,000 34 0 34
= 3 F H L) 8 140,000 50 0 50
H % & 8 140,000 56 0 56
Z B & 8 140,000 28 0 28
i o # & 10 140,000 35 0 35
B B # L) 8 140,000 62 0 62
= B M L) 8 140,000 49 2 51
A 4 H i) 5 140,000 M 5 46
X 2 m i) 6 140,000 38 3 41
T & H i) 7 120,000 M 8 49
X oo# L) 4 140,000 38 7 55
(AN O N 1| L) 8 140,000 M 9 50
= i NIl BT L) 8 140,000 43 4 47
h + {£ BT i) 9 140,000 51 7 58
& i) 8 140,000 42 9 51
#Mo& Hr i 8 140,000 43 8 51
B R H i 10 140,000 38 6 44
A & # i) 12 140,000 46 8 54
b= ) i) 9 140,000 51 2 63
7+ HT i) 8 140,000 47 0 47
X A H i) 8 140,000 45 5 50
= R # i) 8 140,000 4 8 49
£ 8 m & 8 140,000 43 5 48
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RBEHER) KRBTt 5EIE (%) o)
v = @ e | AEE | wzw | wgm | NS
HERKEE | FEIRE H
(%) (%) (M) (A)
30 20 50 2.64 0 7,800 6,480l %1 T
30 19 49 2.20 7.53 7,700 5800|FZ F T
28 15 43 2.40 7.00 9,000 6,000|% = T
29 18 47 1.80 6.90 7,500 59008 B
33 17 50 1.60 7.50 6,800 4300t & T
25 14 39 2.00 7.00 7,700 5600|122 & T
32 18 50 2.00 7.00 7,500 53001/8 £ ™
27 14 M 2.50 5.00 8,000 5,000| t1&:F KT
35 16 51 2.60 8.00 9,000 5000/ A + T
30 21 51 1.80 6.10 6,500 58001F ® T
29 21 50 2.00 6.00 7,000 6,0001F =% T
66 0 66 1.10 0 10,000 O|F ¥ HrT
50 0 50 1.40 0 7,000 O|xF ¥ #I Hr
44 0 44 2.00 0 10,000 O|lF % Hr
72 0 72 1.00 0 15,600 0| H Hr
65 0 65 1.80 0 10,000 ot Nl #
38 0 38 1.60 0 8,400 o B #
28 21 49 2.10 3.00 9,000 9,000|% @ #F
32 22 54 2.50 10.00 9,000 700004 L HT
29 30 59 1.50 5.00 5,000 6,000|k £ H
33 18 51 1.60 9.00 6,000 4000|+ 1{& HT
28 17 45 0.90 12.00 3,700 2,800k Il #F
32 18 50 2.60 11.00 9,000 6,000{Ly @ HT
34 19 53 2.00 10.00 7,500 5,2001= i JIl HT
25 17 42 1.50 7.00 6,000 5,000{# L {£ HT
34 15 49 1.49 8.11 6,300 33004 Il HT
34 15 49 2.50 17.00 11,000 6,000#% %0 HT
29 27 56 1.00 4.00 3,800 4400|145 R HT
32 14 46 2.50 12.00 8,400 45008 & #
20 17 37 2.50 14.00 7,000 8,000|i% EF HT
35 18 53 2.60 0 8,000 5,000{9 5 + HT
27 23 50 1.43 7.16 5,100 5600k H H
23 28 51 0.97 3.80 2,000 3000|1= [® #t
32 20 52 2.50 8.00 8,200 6,500\ 2 & M
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(2)MABFEDKRECEK27FEIA31BIRAE) (4 ERERBOHBEEICRLS
TETA DK R hn A ) ) K 5
H i #
mETAZ | # & %| A O —RBERREHFTEFY Bmmmr| & &
— BRI | pggne | BT AEEH | (©+ (D)
Paelivs BEHTEH
(A) (B) (C) (D) (E)

= M ™ 161,880 335,855 46,459 859 47,318 2,116 49,434
E F W 7,848 14,723 3,142 58 3,200 153 3,353
£ = W 8,600 18,458 3,570 93 3,663 165 3,828
m E ™ 21,736 48,218 6,899 187 7,086 351 7,437
+* & 12,218 28,100 4,719 120 4,839 204 5,043
A oy ™ 10,859 23,112 4,089 98 4,187 185 4,372
B £ W™ 10,192 21,690 3,935 97 4,032 151 4,183
TEFEKT 7,691 14,937 3,049 58 3,107 224 3,331
A+ h 16,401 35,064 5,655 199 5,854 330 6,184
F mom 14,538 34,020 5,101 159 5,260 237 5,497
F E W 12,903 27,056 4,577 109 4,686 205 4,891
R OFE 1,543 2,768 621 10 631 24 655
= 3 7 E 1,763 3,439 621 20 641 25 666
B % H 1,319 2,841 530 10 540 24 564
% H 1,298 2,851 575 6 581 18 599
i # 639 1,405 231 3 234 14 248
B B M 447 938 141 5 146 18 164
= @ # 1,743 3,913 808 7 815 29 844
A Wi H 1,852 3,669 584 13 597 24 621
X 2 2,451 4,349 764 17 781 48 829
T & H 2,015 4,103 627 16 643 35 678
X o # 221 407 55 3 58 5 63
L o H 10,805 24,369 3,663 124 3,787 196 3,983
Z & Il BT 3,240 6,091 1,053 29 1,082 58 1,140
bt t £ BT 3,620 7,466 1,311 40 1,351 84 1,435
£ 1 Hr 6,141 13,540 2,093 63 2,156 118 2,274
Mo H 2,894 6,021 991 27 1,018 57 1,075
B R HT 1,769 3,657 597 29 626 33 659
A & # 2,415 5,310 868 16 884 32 916
2 F m 2,722 6,232 976 38 1,014 64 1,078
M 75+ HT 8,646 18,291 3,264 89 3,353 174 3,527
X R 2,779 5,641 1,211 20 1,231 35 1,266
= & # 782 1,692 309 7 316 9 325
g 8 m 5,665 12,079 2,221 73 2,294 146 2,440
m it 284,866 601,233 91,195 2,037 93,232 4,321 97,553
BT 4 Bt 66,769 141,072 24,114 665 24,779 1,270 26,049
a it 351,635 742,305 115,309 2,702 118,011 5,591 123,602
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(BAL: . A)

m A H# o K =
®w &K K F K
AT — AR EBERREZEHN A&t THHET# 4
WHEH | & ¥ | emmmn T &t (F)+(G)
F | EOH (@) (H)

8,081 74,309 3,127 819 3,946 78,255|& &N T
558 5,030 217 65 282 5312|122 F 1
670 6,364 270 52 322 6,686|% = T

1,424 11,611 579 142 721 123328 E ™
849 8,625 344 78 422 9,047|£ &
737 7,094 300 78 378 TAT2|17E & T
684 6,766 268 59 327 703|118 £ T
565 5,004 297 97 394 5398| L&/ KT

1,070 9,438 566 134 700 10,138|™ 7 + T

1,053 9,080 412 94 506 9586|F ® T
851 7,514 330 75 405 79191F %=

80 1,001 35 10 45 1,046|3K ¥ HT
120 1,036 45 8 53 1,089|F& # F HT
123 875 34 13 47 922|H EF HT
136 986 27 6 33 1019|% H H#r

58 365 19 7 26 1AL Nl #
45 204 24 3 27 231 B &
145 1,546 38 8 46 15921 @ #
124 883 39 10 49 932|& i Hr
199 1,087 70 10 80 1,167\ K £ Hr
138 986 54 13 67 1,053| & HT

15 77 10 1 11 8s|x Il #t
788 5,984 337 99 436 6,420|Ly @ HT
254 1,602 92 17 109 1L,71114Z 3= Il BT
255 2,139 129 29 158 2,297|fh L £ HT
430 3,459 189 52 241 370014 Il HT
227 1,605 88 27 115 1,720|#% %0 @
119 948 66 8 74 1022|8 & HT
188 1,390 53 12 65 1455|8 & #
234 1,606 107 30 137 1,743;% ¥ HT
631 5,501 282 44 326 5827\ 7 + HT
222 2,039 57 12 69 2,108 K A Hr

68 490 17 5 22 512|1= |/ #
446 3,796 230 52 282 4078|2 # HT

16,542 150,835 6,710 1,693 8,403 159,238 |h H
5,045 39,605 2,042 476 2,518 42,123 |BET # &
21,587 190,440 8,752 2,169 10,921 201,361 |& 5
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(2)MAZEDKREFCEHK27FE3A31HERHE)

0 RESHEERFRS (R EIRD
_'%—

1 B\

TETA DK IR % # B XEEF RSB GBD
H i #
HETAE | # & A O — R RIEE HTEFYR BEmme | & &
—BEARIR | m s &t BHEY | 0+
Paelivs BEHTEH
(A) (B) 6)) ) (K)

= O W 161,880 335,855 46,459 859 47,318 2,116 49,434
EF F W 7,848 14,723 3,142 58 3,200 153 3,353
72 = W 8,600 18,458 3,570 93 3,663 165 3,828
mE W 21,736 48,218 6,899 187 7,086 351 7,437
T & ™ 12,218 28,100 4,719 120 4,839 204 5,043
A B ™ 10,859 23,112 4,089 98 4,187 185 4,372
B £ W 10,192 21,690 3,935 97 4,032 151 4,183
TEF KT 7,691 14,937 3,049 58 3,107 224 3,331
A+ W 16,401 35,064 5,655 199 5,854 330 6,184
F mom 14,538 34,020 5,101 159 5,260 237 5,497
F X MW 12,903 27,056 4,577 109 4,686 205 4,891
R O¥F H 1,543 2,768 621 10 631 24 655
= 3 F H 1,763 3,439 621 20 641 25 666
B ¥ & 1,319 2,841 530 10 540 24 564
Z B 1,298 2,851 575 6 581 18 599
i o # 639 1,405 231 3 234 14 248
B B # 447 938 141 5 146 18 164
= B M 1,743 3,913 808 7 815 29 844
A W H 1,852 3,669 584 13 597 24 621
X £ 2,451 4,349 764 17 781 48 829
T & H 2,015 4,103 627 16 643 35 678
X o# 221 407 55 3 58 5 63
L o H 10,805 24,369 3,663 124 3,787 196 3,983
{Z & Il HT 3,240 6,091 1,053 29 1,082 58 1,140
h + {£ BT 3,620 7,466 1,311 40 1,351 84 1,435
& NI HT 6,141 13,540 2,093 63 2,156 118 2,274
#Mo& Hr 2,894 6,021 991 27 1,018 57 1,075
B R H 1,769 3,657 597 29 626 33 659
A & # 2,415 5,310 868 16 884 32 916
b= ) 2,722 6,232 976 38 1,014 64 1,078
75+ HT 8,646 18,291 3,264 89 3,353 174 3,527
X A H 2,779 5,641 1,211 20 1,231 35 1,266
= R # 782 1,692 309 7 316 9 325
£ 8 m 5,665 12,079 2,221 73 2,294 146 2,440
m £t 284,866 601,233 91,195 2,037 93,232 4,321 97,553
BT A &t 66,769 141,072 24,114 665 24,779 1,270 26,049
a it 351,635 742,305 115,309 2,702 118,011 5,591 123,602
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(BAL: . A)

HREEORKRR
® &K K F K
— iRl BEmmks| B | METHE
EH 35 (L) + (M)
(L) (M) (N)

74,309 3,946 78,255/ AN T
5,030 282 5312|= F ™
6,364 322 6,686|% = T

11,611 721 12332|m B
8,625 422 9047| & T
7,094 378 TAT217E B T
6,766 327 70|58 £ ™
5,004 394 5398| L&/ K™
9,438 700 10138|M B +
9,080 506 9586|F ®™ T
7,514 405 19191F £ W
1,001 45 1,046|38 ¥ HT
1,036 53 1,089|F& # #) HT

875 47 922|m % HT
986 33 10191% H H
365 26 1|4 Nl &
204 27 231|8 B’ &
1,546 46 15921 # #t
883 49 932|&/ Wi Hr
1,087 80 1,167| K £ Hr
986 67 1053| {& HT

77 1 88| X Il #t
5,984 436 6,420|Ly @ HT
1,602 109 1711 4Z & Il BT
2,139 158 2,297|% £ £ HT
3,459 241 3,70001& JIl HT
1,605 115 1,720)#% %0 HT
948 74 1022|8 & HT
1,390 65 1455|8 & #
1,606 137 1,743 % HT
5,501 326 5827\ 7 + HT
2,039 69 2,108| Kk H Hr
490 22 512|= /&
3,796 282 4078|2 # HT
150,835 8,403 159,238 | 5
39,605 2,518 42,123 |BT % 3
190,440 10,921 201,361 |& &
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(2)MAZEDKREFCEHK27FE3A31HERHE)

ANV 0k

ARG ERFDEICR DD

TETA DK R TEMSERBE @D
H b £
mEAZ | # 2 %] A O —RBRIRE HHEY EBmmmr| & &
—BRRIR | om e | B FEFEH | 0+
Puptieniie BEHTEH
(A) (B) 0)) Q) (K)
= O W 161,880 335,855 19,671 203 19,874 2,685 22,559
EF F W 7,848 14,723 1,413 24 1,437 181 1,618
72 = W 8,600 18,458 1,842 33 1,875 216 2,091
mE W 21,736 48,218 2,985 52 3,037 476 3,513
T & ™ 12,218 28,100 2,194 43 2,237 271 2,508
Z= I 10,859 23,112 1,887 32 1,919 245 2,164
B £ W 10,192 21,690 1,959 35 1,994 206 2,200
TEF KT 7,691 14,937 1,318 12 1,330 266 1,596
A+ W 16,401 35,064 2,622 56 2,678 444 3,122
F mom 14,538 34,020 2,263 39 2,302 341 2,643
F E W 12,903 27,056 1,953 20 1,973 252 2,225
R O¥F H 1,543 2,768 313 4 317 29 346
= 3 F H 1,763 3,439 294 2 296 41 337
B ¥ & 1,319 2,841 269 3 272 29 301
Z B 1,298 2,851 313 0 313 24 337
i n # 639 1,405 97 1 98 16 114
B B # 447 938 41 1 42 21 63
= B M 1,743 3,913 400 2 402 32 434
A WL H 1,852 3,669 236 3 239 34 273
X £ 2,451 4,349 271 3 274 62 336
T & H 2,015 4,103 271 1 272 48 320
X o# 221 407 26 0 26 7 33
L o H 10,805 24,369 1,476 30 1,506 280 1,786
{Z & Il HT 3,240 6,091 386 6 392 79 471
h + {£ BT 3,620 7,466 612 8 620 114 734
& NI HT 6,141 13,540 875 8 883 169 1,052
#Mo& Hr 2,894 6,021 426 5 431 76 507
B R H 1,769 3,657 251 9 260 53 313
A & # 2,415 5,310 344 3 347 44 391
b= ) 2,722 6,232 442 6 448 93 541
75+ HT 8,646 18,291 1,502 27 1,529 235 1,764
X R W 2,779 5,641 640 9 649 46 695
= R # 782 1,692 140 0 140 16 156
£ 8 m 5,665 12,079 1,033 14 1,047 204 1,251
m £t 284,866 601,233 40,107 549 40,656 5,583 46,239
BT A &t 66,769 141,072 10,658 145 10,803 1,752 12,555
a it 351,635 742,305 50,765 694 51,459 7,335 58,794
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(BAL: . A)

HREEORKRR
® &K K F K
— iR |BEmmeEs| B ETAT %
e FH (L) + (M)
(L) (M) (N)

22,879 3,946 26825l #N T
1,739 256 1995|FZ F 1
2,357 306 2663/ % =
3,672 655 4327\m B T
2,816 387 3203| & T
2,410 341 2751|128 W&
2,425 311 2736|/8 £ ™
1,599 357 1,956\ L&/ K
3,174 619 3793|m A +
2,881 466 3347|F MW W
2,225 482 2707|1F% % ™

394 40 4345 ¥ H
356 51 407\& # FI HT
326 39 365|H ¥ HT
398 32 430|% H HT
119 25 14414t Il #
41 27 68|% B& #
536 43 59| @ &
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